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SECTION - A
i) General Awareness

Ax

The headquarters of the United
Mations is at

(A) Geneva

(B) Paris

(C) MNew York

(D) Washington D.C.

Which day is celebrated as United
Nations Day every Year ?

(A) 7 April

(B) 24" October
(C) 14 November
(D) 27" December

The Secretary General of the United
MNations is

(A) Kurt Waldheim
(B) Boutros Ghali
(C) U.Thant

(D) Ban Ki-mcon

Who clinched the WTA finals
Women's Singles title in Singapore
on 26-10-2014 7

(A) Serena Wilhams

(B) Simona Halep

(C) Martina Navratilova

(D) Sania Mirza

NDA stands for

(A) Narendra Dominated Alliance
(B) Natural Dramatic Alliance

(C) National Dramatic Alliance
(D) National Democratic Alliance

B.

10.

Who is the President of Sri Lanka ?
(A) Mahindra Ranathunga

(B) Mahindra Rajapaksha

(C) Sirimavo Bandaranayike

(D) Nong of these

Which Article of our Constitution
abolishes untouchability 7

(A) Article 16 (B) Article 14
(C) Article 17 (D) Article 15

Who among the following is known
for his work on medicine during
Gupta period 7

(A) Saumilia (B) Sudraka
(C) Shaunaka (D) Susrutha

When a mirror is rotated by an angle
g, the reflected ray will rotate by

8
(A) o B 3
(C) ®© (D) 28

What was the period of first five year
plan 7

(A) 1948 - 1953
(B) 1951 - 1956 ;
(C) 1950 - 1955
(D) 1952 - 1957
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12.

13.

14,

Ax

Which of the following kingdoms was
associated with the life of the Buddha ?
(A) Magadha

(B) Awvanti

(C) Gandhara

(D) MNone of these

The sales tax you pay while

purchasing a tooth paste is a

(A) Tax imposed by the Central
Government

(B) Tax imposed by the Central
Government but collected by the
State Government

(C) Tax imposed by the State
Government but collected by the
Central Government

(D) Taximposed and collected by the
State Government

Australian cricketer died
on 27-11-2014 two days after being
struck by a ball that led to a
‘catastrophic’ injury which proved
fatal.

(A) Phil Hughes

(B) Adam Gilchrist

(C) Shane Warne

(D) Darren Lehmann

Union Government recenily,
submitted a list of Indians

holding black money abroad to the
Supreme Court recently. More than
half of people are NRI's and most of
them had accounts with the HSBC
bank Geneva.

(A) 327 (B) 427
(C) ©27 (D) 527

15.

18.

7.

18.

18.

20.

D 0 O

Which is called red planet 7
(A) Mars (B) Venus
(C) Jupiter (D)} Mercury

The 2014 Nobel Prize for peace has
been shared by Ms. Malala Yousafzi
and

(A) Mr. Tendulkar

(B) Mr. Narendra Modi
(C} Mr. Kailash Satyarthi
(D) None of these ;

The author of “Malgudi Days” is
(A) R.K. Laxman

(B) R. K. Narayan

(C) Shobha Dey

(D) None of these

Ustad Zakir Hussain is an exponent
of which of the following musical
instruments ?

(A) Tabla (B)
(C) Sitar (D)

Santoor
Sarod

Who directed the film “Bombay” 7
(A) Shyam Benegal

(B) Meera Nair

(C) Shekhar Kapoor

(D) Mani Ratnam

18t Summit of the SAARC is held
recently in

(A) New Delhi ~
(B) Dacca

(C) Kathmandu

(D) Colombo
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ii) General Intelligence and Reasoning Ability
21, Which one of the following sets of 55 Find the missing number from the
letters when sequentially placed at given alternatives
the gaps in the given letter series & 9 15
shall complete it ? ol
ZX -TR-NLJ-FD- 8 5 13
(A) VPHB 2 4
(B) VRHB (A) 10 ®) 12
(C) UPJB €y 11 (D) 28
e 26. Accept: Except:: Piece:?
A) Peace B) Nice
22 A man starts from a point and walks (C} & ! [E} SI
2 k. South. He turns right and walks i) e \2) Pe
3 km. Then he tums left and walks 2 k. o7. T isin ‘calf is the same way as ‘d is
The direction he is now facing is in
! (A} East (B) West (A) Said (B) Bridge
(C) South (D) North (C) Done (D) Card
) »8. Find the word that cannot be formed
| 23 |f WIND can be written as YKPF, how trom the letter of the word
. can GOLD be written in that code ? “PUBLICATIONS".
(A) IQFN (B) IQNF (A) ACTION (B) PLANS
(C) IQNE (D) JRNF (C) CLIPS (D) LOCATE

: _ ) 29. Find the missing date.

o4, P is Q's daughter. Q is R's mother. 51171, 234171, 912171, 2612071, ?
Sis R's brother. How is S related to P ?

| ; (A) 5/3IM (B) 10/3/71

! i (C) 15/3/71 (DY 14/3/71

‘ (B) Grandfather

e 30, IfB=2, CAP =20, ANT =35, TAP="7
n

S (A) 36 ®) 32

(D) Brother Wil & ot
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_ if) T gfga ae arfahe araa
21, 5 9=l % e @ F v e 25. & i et § & T1aa G w1 g "
T e S i dsn d ca  uE SR
Uil 68 9 15
ZX-TR-NLJ-FD - Rpt2.. 5
g..5 13
(A) VPHB y /T
(B) VRHB (A) 10 (B) 12
(C) UPJB (C) 11 (D) 28
(D) VPJB :
26. Accept: Except: : Piece : ?
22. T S U g @ YR U (A) Peace (B) Nice
vl 3w 2 . . Toren e (C) Rice (D) Says

Fn w3, . firt
a'sf‘:ﬁm;@:ﬁiﬁsm%l 27. o calf 4 12 3l veR g g 2

¥ 9% 38 foan i ik wfma 2 (A) Said (B) Bridge
(A) tﬁ ®) e (C) Done (D) Card
(©) =R (D) I 28. “PUBLICATIONS” /52 & =il & 5
AT Y78 Gef Shrfere
23, If WIND =) YKPF fomat st 2, 4 (A) ACTION (B) PLANS
36 g2 § GOLD %1 &4 forea s 7
(C) CLIPS (D) LOCATE
(A) IQFN (B) IQNF
(C) IQNE (D) JRNF 29, AT qHRE gar iy
6/1/71,23/1/71, 9/2/71, 26/2/71, 7
24. PRQHITFRIQERF AT (A) 5371 (B) 10/3/71
S%HWW%IWS?ETF!}WW%? (C) 15/3/71 (D) 14/3/71
(A) Toar ¥
30. @ B=2%, CAP=20%, ANT =35%,
(B) =@ A TAP =2
() (A) 35 (B) 32
(D) W (C) 28 (D) 37

e
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31.

32.

34.

ABCDEFGH are sitting in a circle, not
necessarily in this order, facing the
centre. B is sitting directly opposite to
‘D’ who is sitting second to the half of
A who is between E and H. B is
between E and G and F is between
G and C. Who is sitting second to the
leftof F 7

(A) A (B) B
(C) C (D) D

S is younger than P but older than Q.
R is an old as P but younger than T.
Who is the yougest 7

(A R (B)
(C) P (D) Q
If ‘<’ means '—, 'x’ means ‘z’',

means '+ and '+' means ‘x’.
12 :68:2-2+5=7

(A) 20 (B) 26
(C) 10 (D) 16

Diagonals AC and BD are drawn ina
rectangle ABCD. How many triangles
can be seen in this rectangle ?

(A) 4 (B) 8

(C) 8 (D) 10

Directions (35 — 36): |dentify the alternative
which does not belong to the group of the
other three.

35.

Ax

(A) Rose

(B) Champak
(C) Jasmine
(D) Garland

00 O O O 0
36. (A) 27
(B) 125
(C) 60
(D) &

37. Inthe alphabet ABCDEFGHIJK
LMNOPQRSTUVWXYZ
which letter is sixth to the right of the
letter which is 18" when counting
from the last letter ?

(A) O (B) P
(C) N D) Q

38. ABC is A with E:E'D“ name the

solid formed when A ABC is rotated
around the axis AB.

(A) Cylinder (B) Sphere
(C) Prism (D) Cone

Directions (39 —40) : Substitute the question
mark by choosing the appropriate alternative .

39. Ear:ring:: Nose:?
(A) Necklace
(B) Stud
(C) Anklet
(D) Bracelst

40. 4,2,16,7,36
(A) 20
(B) 26
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31.

'. 32.

33.

34,

N0 0

ABCDEFGH T8 Ush I § 3§ %5 5l
FRairEEeR s ® | SEladi e A
sdiEn i a2 | Bue DHHE Fada 2
S A S g R, MESHF
#E2 |BI EINGHS=E AN FIe
G 3 C % = 2 | F & a1l 3R g

AW HHASSE ¢

(A) A (B) B

€y € (D) D
SYEPUAIMASA & Ak QE g

BIRmPEITmATTEARATE
TR I FE BRI FAR 7

(A) R 8) T

(C) P D) Q

gfe . wrwads < B, I Haee
2, '~ o Uaes + 8 TR 4+ W e
M F

12:6x2-2+5=7

(A) 20 (B) 26
) 10 (D) 16

ABCD 37198 & AC 371 BD g & faei
a2 | 2a e o e B e
e
(A) 4
(C) 8

(B) 6
(D) 10

| S (35 - 36) ; o A TEE @ e A
T JT W TEET |

35.

(A) ==
(B) =HH
(€) =
(D) =

A

36,

37.

38.

40.
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(A) 27

(B) 125
(C) 860
(D) 8

ABCDEFGHIJKLMNOPQR
STUVWXY Z auigmen § Hriad
S7e H Firrell o 2T 18 14 o 2]
IR T B3E] HET R 7

(A) O (B) P

(C) N (D) Q
ABCHE T A 2 for | B=90° % |5«

AABCTI 35 AB 3767 o T AR gHMT
SITAT 2, S 369 eiaTe] ST & |

(A) wEH (B) T
(C) T (D) %

A

Trdor (39 - 40). 3fa fawey g w7 e 1
SR 9T 179 hifr |

1B B T G 1 =
(A) TR
(=) S
(C) HH
(D) F

4,9,16,7, 36
(A) 20
(B) 26
(C) 25
(D) 30
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41.

42.

43.

iii) Arithmetical and Numerical Ability

20 men can dig 40 holes in 30 days.
How long will 25 men take to dig 20
holes 7

(A) 12 days (B) 13 days

(C) 15 days (D) 10 days

lf2x=3yand2y=8z;x:z="7
(A) 2:3 By 8:2
(C) 4:9 (D) 9:4

Find the amount deposited for which
quarterly interest at 8% p.a. is Rs. 400.

(A) Rs. 2,000
(B) Rs. 20,000
(C) Rs. 8,000
(D) Rs. 32,000

The ratio of the radii of two circles is
2 -3, What is the ratio of their areas 7
(A) 2:3 (B) 4:8
(C) 4:9 D) 8:2

John walks 3 kms to his North. From
there he walks 3 kms to the East. From
thera he walks 7 kms to the South.
How far is he now from his starting
point 7

(A) 4kms
(C) 6kms

(B) 3kms
(D) 5kms

46.

47,

49,

PA and PB are two tangents drawn
from P to a circle with centre ‘0". C is
a point on the major are AB.

| ACB = 80° . Find | APB.
(A) 100°

(B) 20°

(C) 160° ;
(D) None of these

ABCD is a cyclic quadrilateral. BC is

| DCE =100,

produced to E.

BAD =7
(A) 80°
(B) 100°
(C) 180°
(D) None of these

The elements of the principal
diagonal of unit matrix of order 3 x 3.
are 1, x and 1. Find x.

(A) 8 (B) 0
c) 1 (D) 2

The shop keeper marked the price C
an article 20% above its cost price
and allowed 10% discount. What §

his percentage of profit ?
(A) 10% (B) 12%
(C) 30% (D) 8%

50, Findthe negative rootof x2 + 2x—~35=0
(A) =7 (B)
(C) -2

-5
(D) -3
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Ay 12f=
(C) 15f=

B 13fF
(D) 1of=

afd 2x = 3y B 32y = &%,?ﬁ X:z="7
(A) 2:3
®) 3:2

(©) 4:9

D 9:4

A 23

ﬁ- Sy = = 2 SR 5. 400 SR

(A) %.2,000

(B) ¥.20,000

(C) %.8,000

(D) %. 32,000

=t et ft Bt w1 s 2 32,

I SAEE 1 AT FE 7
(B) 4:6
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48.

47.

48.

50.

0" s W e i, P oreg # et 7
PA it PB¥ie 21 TsieTd & | e =T
AB TC T® wH fag 21 9fe

| ACB - 80° ‘%,ﬁ?l_ﬂﬂ'ﬁﬁﬁt
(A) 100°
® 20
(C) 180°

(D) ¥ & g e

ABCD 78 T 903 s 2 | BC I
E &% g R i € | | DCE = 100°%
f‘?f @ =7

(A) 80°

(8) 100°

(C) 160°

(D) =0 & %7 74

3 x SW%MW% =C o
T Hew 1, x@i’fgliﬁf‘:&%gzﬁlﬂ

(A) 3 B) 0
€ 1 o) 2

T AT A ST ST i § 31
A 20% € e i AR10% % 52
9 | 35 g H gfaaa wn e ¢

(A) 10% (B) 12%
(C) 30% (D) 8%

X2 + 2x — 35 = 0 =1 HRUTIcH: Hel Tal
#if |
A -7
(C) -2

(B) =5
Dy -3
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53.
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51.

A person casts two fair dice once.
What is the probability that the
difference of the numbers on the two
faces will be "0" (zero) ?

(A) (B)

(C) (D)

o o~
Wi o=

How many diagonals can be drawn
in a polygon with 9 sides 7

(A) 24 (B) 25
(C) 26 (D) 27

A person travels a distance of
48 km. at 24 km/h and then returns
the same distance at 16 km/h. Find
the average speed of his to and from
(total) journey.

(A) 20km/h

(B) 18.5km/h

(C) 19.2km/h

(D) None of these

4k + [Bk—{2k— (k—3))] =7

(A) Bk-3 (B) 6k+3
(C) 2k-3 (D) 6k—2
e 58 2
Find the HCF of 5'2' 3
3 a0
A 3 B
30 1
@ - D) 13

57.

58.

a9,

60,

A OO0l

If logsg 14 =1.1461, what is the value

(A) 2.1481 (B) 0.1461
(C) 1.461 (D) 14.61
i e -

985-15

(A) 99.2 {E]' 97
(C) 100 (D) 98

Ajay owns 560 shares of a company.
The face value of each share is
Rs. 25. The company declares a
dividend of 9%. Calculate the
dividend that Ajay will get

(A) Rs. 1,260 (B) Rs. 1,250

(C) Rs. 1,200 (D) Hs. 1,275
The area of a square is 1225 cm?, Find
its perimeter.

(A) 150 cm (B) 140cm

(C) 125cm (D) 160cm

Three circles with centres A, B andC
touch each other externally. If the radii
of these circles are 3 cm, 4 cm and
5 em, find the perimeter of A ABC.

(A) 20cm (B) 12cm-

(C) 80cm

(D) 24 cm
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| 51, T Sl O o ok AR 3w Ry | osg ale fog,, 14 = 1.1461 8, a1 log,,1.4
Sl 21 Hes 1 orw 0" () e R 7 A
B hl HeToe R 7 (A) 2.1461 (B) 0.1461
3 3 C) 14 D) 14.
(A 3 B (C) 1.461 (D) 14.61
a 2 |
g © 3 985 _ 1.5 *-'
§7. —————=9
| 98.5 - 1.5
52. 9 Wikl ATt SRS & Fee Rl @iy | |
: R E? (A) 99.2 (B) 97
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: © 28 (D) 27
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: (A) 20F%. ot /ey W e
, (B) 19.5%%. o, /521 e
(C) 19.2F%. . /ey 59. AT G & o1 St 12259, 1.2 2 4y
(D) 379 & g 7 et affr e il |
54. Gk +[3k—{2k —(k—3)}] =7 (&) 150%. 3. (B) 140%. 5.
(A) 6k-3 (B) Bk+3 (C) 125#. . (D) 1607¥. Hi. 'J
| ©) 2-3 () k-2 x '~
| ' 60. A, B 3R G o o 37 sy & amee -
|: 53 2 ﬁmﬁaﬂﬁ%lﬁﬁqﬁﬁﬁm -
L 55 53 g T i w34, o, 48, . s o E
| " A A ABC #t uftfiy warshifim |
| (A) = B) =—
| 5 64 (A) 204, . (B) 127, 4,
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v) Test of Language : English
wTeT Gfterer ; S

Directions (81 — 83) : Find out which part
(A), (B), or (C) of the sentence has an error.
If there is no error, you answer is (D).

81. The house with all its (A) / furniture
and exotic plants (B) / were sold for
Rs. 60 lakhs (C) / no error (D).

82. Many astudent(A)/are frustrated (B) /
because of unemployment (C) / no
error (D).

83. Theywalked (A)/besides each cther
(B) / in silence (C) / no error (D).

Directions (84 — 86) : Choose the correct
alternative to fill in the blank.

B4, There is an exception

avery rule.
(A) by (B) in
(©) to (D) on
85. The accused that he had
met the deceased before.
(A) refused (B) denied
(C) defined (D) exclaimed
86. Increased population one
of the major reasons for poverty.
(A) is (B) are
(C) have been (D) were

87. Choose the misspelt word
(A) alternative
(B) alliogether
(C) allusion
(D) allowance

-18-

88.

89,

91.

92,

93.

Choose the alternative which is
opposite in meaning to "CONCEAL'
(A) converse (B) conduci
(C) show (D) recall

Choose the alternative which bes!
expresses the meaning of "RAGE".
(A) rank (B) rule
(C) care (D) anger

Choose the alternative which bes
expresses the meaning of the idiom
phrase given in capitals.

Two women are so jealous that AT
THE DROP OF A HAT they star
insuiting each other.

(A) when a hat falls

(B) when any one drops a hat
(C) for no reason at all

(D) onimportant occasions:

Choose the alternative which is the
same as “A substance used a:
medicine in the treatment of disease"

(A) crew (B) drum
(C) pride (D) drug
The noun form of “EXAMINE" is
(A) example (B) except

(C) examination ~ (D) result

Plural of ‘city’ is
(A) citys (B) cities
(C) citis (D) cityes
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94. “Vikramaditya was the greatest judge
in History". Change this into positive:
degree.
(A) Vikramaditya was a greater judge
in History
Vikramaditya was a great judge in
History
No other kmg m Htstm)r was as
gmataﬁ ke
V&mm was not as great a
judge in History

(B)

©)

(D)

nﬁai‘ned the‘

last angel

(B) The mystery had been explained
by the last angel

(C) The mystery has been explained
by the last angel

(D) The mystery explained last angel

“His COURAGE never failed him”.
Name the part of speech of the word
given capitals.
(A) adjective
(C) wverb

96.

(B) adverb
(D) noun

Fill in the blank with the most
appropriate alternative.
Indra was deprived
celestial kingdom.

F 2 (A) of

97.
his

(B) at

'.m aﬁgmwﬁ explained by the

JDD-44/TGT-SANS/X-14
Directions (98 — 100) : Read the belowing
passage and answer the E]LIEBHEIHS given
below the passage by choosing the right
alternative.

Aside from the construction of tombs,
mosques and other buildings. the Adilshahi
rulers paid great attention to the construction:
of waterworks. Indeed it became imperative
to devise arrangements of a long-term
nature that would supply water to the city of
Bijapur. This schemes were so ingenious it
is hard to believe that what we know today
as a city with perennial water problem could
have been so lavishly provided with water,
not just for essential purposes, but also to fill
the tanks, fountains and artificially =
constructed channels of the residences of the
rulers and their nobles and for the countless
other public buildings.

The writer says that the Adilshahi
rulers

(A) built more tombs and mosques
than water works

built tombs, meosques and other
buildings only

built tombs, mosgues and other
buildings as well as water works
did a lot to construct huge dams

98.

(B)
(C)

(D)

“These schemes” refers o

(A) palace, intrigues

(B) water supply arrangements
(C) irrigation facilities S
(D) construction of dams

The word Jngenlnus means e
(A) faulty (B) scientific
(C) primitive (D) naughty

100.

(C) into (D) for
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Fafrearl & oo Hesgoet Sa

11. This booklet contains 32 pages. 11. == Eﬁﬂﬁ 39 92 |

12. Please check all the pages of the Booklet - .
catelully. Ini case of any defect, please ask 12. 'ﬁ‘iﬁﬂ%ﬁ?ﬁ'?ﬂ‘fmﬁ_ﬁﬁﬁ“'ﬁ i
the Invigilator for replacement of the Booklel. i 32, A e o sEen S o e |

13. Directions : Each guestion or incomplete 13. Bdw . yelE wvd F9 TEE Syt e & AR
statement is followed by four alternative ' DR 5 .
suggested answers or completions. In each i S i al ‘E‘*T‘*ﬂﬁﬁfﬁ e 1 HTR
case, you are reguired to select the one that 3 e o T o AT & S 3R i He 3
correctly answers the question or completes 3 SuE] FUH F1 W i 377 ST IO~
the statement and blacken (@) appropriate ~ o L - y
circie A, B, G or D by Blue / Black Ball-Point 3 3uges v @A A, B, Ca D e
Pen against the question concerned in the FTET AT -O%E G4 § Fe (@) B S |
Answer-Sheet. (For V.H. candidates (zfezantim Teitaam & fom T TN
corresponding circle will be blackened ﬁq.fi . -
by the scribe) : R hrern e W)

14. Mark your -answe-éjby shading #Z apgﬂpﬁ;;-; 5 {4, S v o T 3 g e e o
circle against each guestion. circle should : = 23 S ST
be shaded completely without leaving any space. TR %ﬁ | e i ﬁr’? i maﬁ ! |
The correct methad of shading is given below. Freifea w0 =1 we Al A9 B e |
Wiora Mathea |[Wiong Method || Wiang Mathod || Comact Mathod T | e e | temA A (| WE A
O® 00|00 0I0®0C 0 @l Jele MGQ-GB DB00I0eC 0 o] Ieje]
The Candidate must mark his/her response ST P SR S S T (S
after careful consideration. Tafees Fon =iz |

15. There is only one correct answer to each 15. TF U9 F1 e TF ﬂ'}qﬁ TEL B | M
guestion. You should blacken (@) the circle : £ =
of the appropriate column, viz., A, B, Cor D, kel e :ﬂ‘?ﬁﬂL A,B,CTD * 'im“;__;
It you blacken (@) more than one circle = I (@) FAR | A 3 ) w w
against any one guestion, the answer will be o U H S e @ F T (@)
treated as wrong. If you wish 1o cancel any g A _
answer, you should completely erase that black AT < ’f_ﬁﬁm |t S ﬁﬂ@ﬁ&maﬁ
mark in the circle in the Answer-sheet, and & AR B A A e ¥ 3 R
then blacken the circle of mised response. R mré%ﬁama%ﬁg"mﬁ%ﬁa% fﬂﬂaaﬁﬁq

18. fﬂ. machine will read the coded information Eﬂt%ﬁiﬂ.m@ﬁﬂmﬂ?ﬁ |
in the OMR Answer-Sheet. In case the . I :
information is incomplete/different from the 16, 371,37, IR H W TS e u B U
information given in the application form, the e g | gfEaEa ol & v ST L ER
candidature of such candidate will be treated : : e
s GEOTEleG. ﬁn‘%wﬁﬁq%.ﬁtﬁm%a\wﬁiﬂ

17. Use the space for rough work given in the vy et et | _ )
Quaestion Bookiet only and not on the Answer 17. wed 1 &+ f%[qa:;m g ﬂﬁﬁg:ﬁ; A &
fh%t' R ik iyt | e R U e A A |

18. Youare requ 0 mark your answers _ = - i
in this Booklet. All answers must be 18, =@ Qe % =G HTw! I HAfena TE
indicated in the Answer-Sheet only. FHE | I A Iw-aEeE H €

Go through instructions given in Page No. 1 (Facing Page)
Ax 2.
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